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SECTION 1 (60 maths) Answer all (20) questions | S.27M
Note Do not double credit Q s 4, 8. 9 or 20
Q Ng Correct answel Mk
Notey
Q1 granite 3
Q2 wind vane 3
03 l.abrador 3
Q4a washing down of mnerals by water | 3
Or
Q4db northern coniferous forest 3
Q5 crater or vent 3
Q6 bringing water to drv land 3
Q7 burnmnyg fossil fuels 3
Q8a drumhin 3
Or
Q 8b spit  or alluvium 3
Q9 | Teaching 3
Q10a| 15 Degrees C 3
OR
Q10b Mediterranean 3
Q1 mived farming 3
Q 12| Low Birth Rate/Low Dcath Rate 3
QI3 at the city centre 3
Q14 cereals 3
Q15 Developing countries 3
Qle Cmergency aid 3
Q17 Ethioma 3
Q18 Pre Christian 3
Q19 contours 3
Q 204 CBD 3
OrQ 20b  West
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Section 2 (90 marks) Answer THREE questions
All questions carry equal marks

1. RIVERS.

A Explam how WATEFALLS OR OX-BOW LAKES
are formed [6]

Three points of information /%@ 2 mk s each
Accept process or processes named and/or
explained, accept relevant features named

stages, sequence of events, time ete
Total =6

Notes. ¢ g caused by erosion = 2 and deposition = 2 al meunder

2
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B (1) Name and descnibe | WO ways rivers are used bL' people

TWO ways @ 4 marks cach

Fach way NAMED =3 mk s
Description/example/extia nfo = 1 |

1e 3+1 and 3+] Total 8

Notes e g. trasport = 3, on river Riune = |

(11) Name and describe ONE way rivers cause problems for people

ONE way @ 4 marks
Way named =3 mh s
Description/example/extra info =+ 1 Total = 4

Notes e g flooding = 3, so houses ure rumed = |
1]

C With the help of the following words explam how a RIVER 15
part of the water cycle

* evaporation * condensation
* precipitation * niver [12]
Four pomts of info @ 3m each —

Accept more than one point on any of
the headings given BUT at least TWO
headings must be used to get full
marks

3+3+3+3 Total = 12
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2. A GEOGRAPHICAL MIX

Answer any THREE of the questions A, B, C, D.

A. TOURISM
'Climate attracts Inish people to tourist areas in many European countries

for their holidays '

(n  Name ONE such tounst area you have studied

(u)  Explamn why the climate attracts tounsts

(it)  Cnve ONE other reason why the area you have chosen i1s important
for tourism [10]

i) areanamed =3mk s

(1) Explanation ie Chmate = dmk s
Staterment = 3m Dev +Im

(111)'Other’ reason stated = 3mk s

} Total = 10

Notes e g (10 Soern = 3 (1) sunny' = 3 so v ou tan = + 1, () scenerny= 3

B. TRAFFI(C CONGESTION.
(1 Gne TWO reasons why traffic congestion happens so often n

our towns and cifies

(1)  Brefly describe TWQO methods which have been used to ease

such congestion [10j
(1)Two reasons for congestion stated

‘@ 2mhk s each,

(1) Two solutions @ 3 mk s each as follows
Method stated = 2mk s
Dcrclopment‘example = + | mk

Total = 10)

Notes ¢ g (V) trcrease nn car numhers = 2, narrow roads = 2
()  weden rowds = 2. t0 handle moire cars = |
se FIRe Fouds = 2 like the one round [ imerick = |
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C. POPULATION DENSITY

Choose a European country you have studied (for example Ireland,

Sweden, Italy)

Name ONE area where a lot of people live and

name ONE area where not many people live

Describe TWO reasons why more people live 1n one area than the other
[10]

Each of TWO areas named = 2 mk s each
Each of TWO reasons {@ 3 mk s each,
as follows Reason stated = 2m Dev +Im

Total = 10

Notes Dublm 2, HWest 2. Dublin has jobs 2 m offices 1
People come 1o Dublin for education -2 ¢ g. [runty 1

D. THE DEVELOPING WORLD

Imagine you aie on a visit to an African village with an aid agency
such as GOAL
Write a letter to a friend and in it briefly describe FIVE things that
are different from home [10]

Five differences given @ 2mk s each

Total 10

Notes e g poor houses = 2mk.s, different lunguage = 2 mk s, skin colour
=2 mh s, litle food = 2 mh s, o cfean waler =2 mk s
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3. Read the newspaper heading and answer the questions below

'OVER 50 KILLED AS LANDSLIDE HITS SHANTY
TOWN IN INDIA’

A What 1s a landshde ® Explam how 1t happens [8]

Four pomts of information ‘@ 2 mk s each
Points may be descrniptive and /or explanatory
Accept actual example as one point

Total = 8

Notes. € g mud stones = 2, move quickly = 2 down mountainside =2
due to carthquahe = 2

B (1) Describe THREE ways in which shanty towns are different from
other towns
(n)  Explam bnefly why so many people would be kilted in a
landshde 1 a shanty town [12]

(1)  Three differences @' 3 mk s each
Each difference named = 3
(m)  Explanation =3 mhk s
Eaplanation stated — 2 mk
Dev OR another explanation stated = + |
Total = 12

Notes e g (1) pour houses = 3, divease =3, had waler =3.
(1) over crowded = 2, bulldimgs very weak = |



C o 1he cepulation of a shanty town 15 hich because peosie
migrate ¢ move ot fiom the countryside
Feplain why aiich ~eeple leave the conntr aroas and i thev ~r
attracted to towns [10]

i Reasows for leaving countrv = Smk s

) Expzct two pownts of information @ 3 + 2

i Points may be separate or the second may be a
|| development of the first

i Reason s for coming to town =5 mk s

| Expect two pomts ‘@ 3 — 2 ]
i Points may separate or second may be a

| development of the first

L Total = [0

Notes ¢ ¢ nr jobsin rutal = 3. pot attractive to fudtories = 2
Bener sociaf I'fe =3 cluby = 2
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4. PEOPLE AND PLACES.
A,
Nowadays many people move or migrate from country (rural) areas
to live i towns and cities (urban areas) Name and explain THREE

different reasons why people move to cities and towns to hive  [12]

Three reasons @ 4mhk s each

Each 4 divided as follows
Statement = 3, dev +1

L1 Total = 12

Notes e g socral ife 3, more might ife 1,
better services 3, hospitals 1,
Jjohs 3. fuctories o [

B Imagine it 1s suggested to build a new shoppmg centre at the site
of the timber yard n the centre foreground of the photograph
() Explain ONE reason why some people might be m favour of this

site
(1)  Explain ONE reason why some people might be against this site
[10]
Reason FOR stated = 3mhk 5
Dev of pomnt = t+2
Reason AGAINST stated = 3mk s
Dev of point =+2

Total = 10

Notes . eg FOR ot of room =3 | for parking = 2
AGAINST more traffic = 3, dungerons = 2



PO

C In summer many people leave towns and cities and go to the
countryside for then holidays Describe TWO reasons why
people go to the countryside for their holidays

8]

Each of two reasons 2 4 mk s each
Total 8

Notes ¢ g outdoor uctivities 4, fresh air health 4
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S. TOWNS.

A List FOUR services which aie usually provided 1 the built up area
of a large town for the people who live there [8]

Fourservices @2 + 2+ 2+ 2
Total =8

Notes e g church = 2, cducation = 2, Gurdu Station = 2, hedlth 2

B New factories are often built at the edge of a town. Name and
explain THREE advantages fot factory owners in building at the

edge of a laige town
[12]

Three reasons % 4 mhk s cach
Each reason named =3 mk s
Development = +1

Total = 12

Notes e g good transport = 3, 10 bring goods to market = 1
Labour supply 3, not far to travel, banks 3, 1o cash cheques 1

C Describe ONE reason why 1t 1s a good 1dea to build a town beside a
Tiver
Describe ONE reason why it 1s NOT good 1dea to build a town
beside a river where there aie meanders. [10]

Reason FOR =5 mk s St =3mk s, Dev = 2mk s
Reason AGAINST building =5 mhk s
St =3mks,Dev =2mks

Total = 10

Notes e g water supply 3, for domestic use 2
Iood dunger 3, huilldings ruined 1 2
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SECTION 1 (60 marks) Answer all (20) questions

Note Do not double credit Qs 4. 8. 9 or 20

Pl

] , -
Q Ng  Correct answel I ' vk
Notes 7
Q1 granite 3
Q2 wind vane 3
Q3 Labrador 3
|
~ - !
(Qda washing down ot imnerals by water* 3
Or |
Q4b northern coniterous torest P33
|
*() 5 crater or ven’ | 3
Q6 bringing water to dny land I
Q7 |  burnmy lossl fiuels 13, .
Q.8a. drumliin 3
Or
*Q8b. spit  or afluvium 3
Q %a hot summers, most ram in winter 3
Or
Q9 Mediterranean 2
Q10 teaching 3
Q11 mixed farming "3
Q12 developing countn :
Q13 at the city centre ' 3
Q14 hay 3
Q15 Nigernan tnyChilean copper 3
D16 counirics depend on cach other 3
QL7 33050 caloties R
Q18 N 648 877 3
Q19 184 merres 3
I 1
i o
Q 2();{ it~ ot Jow-lvine marshy ' !
I

¥OrQ20b  nerth g north wesy

23 a
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| Section 2 190 marks! Answer THREE (uestions |
i All questions cammy equal marks |

1. RIVERS,

A Tlsing ene of the diagrams above. explain how waterfalls OR
Ur-bow fahes ate tornied Hi

Three clements of informatton @ 2 - 2 - 2

1

!

; .
t \ecent process or processes named and for explaned
Porer stages unven. sequence ot vents sugoesied. |
b audiional infarmaticn given by way of diagram or
1 any combanation ol ihese Totad = 0

Notes e g caused hv erosion = 2 and deposuion - 2 at meunde: 2



B (1} Name and descnibe TWO) wavs nivers are used by people

i TWO wavs ‘' 4 marks each

t Tach way NAMED - 3mk s

I Deseripton example extra info - - |
!

1
[
i
[
i
e b oand R Total = 8 l

Notes e jrurhparr > oop river Riune

try Name and describe ONE wian nvers cause problems for oe

=
-t

FONF W - marks -
PWay name
tDescnpnon axample eattamto — - 1 Total -+

Notes e g Hdovding - 3o honwes are ruted = |

C ook at the (0 % map and legend tkey) provided
Praw a sketeh map ot the area shown on the inan

[] l'rl AR LA TN
1 1

LRIl L3 |I llll\J I\I r -
- the River ee - ynamed Imbutary ol e Raoer ee
- b L ' Gom - 300N o fied e Dieed
1 i
..l ¥ iin ] t [ B ] -';" LR ART Y] Ll’!\__‘\‘\f‘\ lll': |‘ LR l" T !I |‘
ChVIake s e L nen Juoa ey orle hoadmy and duascion e
P ems teuniested o Smoeach l Va1 :
|| N ETEL] [ Y ! i Tr l'i |
tem shen e im -
. 1 Tn =1 .
I feminannet -1m _ Cg ! 5
1 1 1 ]
"liame wm i '. ;’1 :
by ke \
]'”il. l'”| i 1 1 . 1
, Dhirection Hin Copn !
{
Maw =12 ;o 1 |
! T |
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2. A GEOGRAPHICAL MIX

Answer any THREE of the questions A, B, C, D.

A. TOURISM
'Climate attracts Irish people to tourist areas in many European countries

for their hohdays'

()  Name ONE such tounist area you have studied
(u)  Explain why the climate attracts toursts
()  Grve ONE other reason why the area vou have chosen 1s important

tor tourism [10]

(1) areanamed =3 mk s

(1) Explanation re Chimate = 4mk »
Statement = 3m Dev ~Im

(11)'Other’ reason stated = 3mk s
Total = 10

Notes ¢ ¢ (1 Spenn = 3 () sunny = 3, s0 vou fan = + 1. (u1) scenernv=13

B. TRAFFIC CONGESTION.
(1)  Grve TWO reasons why traffic congestion happens so often in

our towns and cities
(1)  Bnefly describe TWO methods which have been used to ease

such congestion [10)
(1)Two reasons for congestion stated
@ 2mk s each,
(1) Two solutions @ 3 mk s each as follows
Method stated =2mh s
Devclopment cxample - + 1mk

Total = 10

Notes € g (1) e reuse 1 car humbers = 2 narrew roads = 2
() wwden roads = 2,10 handle more cars = 1
e Fing rodds = 2 lke the one round Limerick =
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C. POPULATION DENSITY

Chose a European country you have studied (for example lreland,

Sweden. Italv)

(1) Name the country you have chosen

(11)  Name ONE part of 1t that 1s heavily populated

() Name ONE part of if that 1s hghtly populated

(1rv)  Explain TWO reasons why the heavily populated area has more
people than the lightly populated area [16]

(1 Country named - 2 mk s
{m)  Heavily pop part named = 2 mk s
tiuy  Laghtly pop part named =2 mk s
(n)  Two reasons ‘¢ 2 mk s each,
Each reason stated = 1. dev - 1
Total - 10

Notes ¢ g (1) lreland =m, cn) Dublm = 2 mk s, () Hesr =2 mk s
(vymore jobs = 1 mk , m offices = + 1 mk
more services = 1 mk such as colleges = +1

D. THE DEVELOPING WORLD

Imagine you ae on a visit to an Afncan village with an aid agency
such as GOAL
Write a letter to & friend and 1n 1t brietly describe FIVE things that
are different from home [10]

—

i Five differences given @ 2mk s each

Total 10
Notes e g poor ftouses = 2mk s, different langnuge = 2 mk s, skin colour
=2 mk s. futle food = 2 ok s, no clean water - 2 mk s
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3. Read the new-paver headmy and answer the questions below

: "'OVER 50 KILLED AS LANDSLIDE HITS SHANTY
TOWN IN INDIA'

A What 15 a landshde ? Explain how it happens [8]

Four points of information @) 2 mk s each
Points may be descriptive and ‘or explanatory
Accept actual example as one point

Total = 8

Notes ¢ ¢ miudd stones = 2 mave quickly = 2 dewn mountamsrde =2
due 1o varthyuake = 2

B (1Y Describe TWO wavs i which shanty towns are different from
other towns
(n)  Explam briefly why -0 many people would be killed in a
landshide 1n a shanty town {12]

-

(1} Two differences " 4 mk s each
Fach difference named = 3, development = - |
(1)  L:xplanation =4 mks
Explanation stated = 3 mk s
Dev OR another explanation stated = + 1
Tctal=12

Notes ¢ g (1) poor howses = 3, mude of tn = 1, drsease =3, had water =1
(1) over crowded = 3, huddimgs very weak = 1



C® The cepulanien of a shanty town 1s high because peoste
migrate { mose’ to 1t f1om the countryside
Explam whe zach peeple lear ¢ the covntmy arza< and vhy shev -ro
attracted to towns | 11]

!—Rcasonr‘s for leaving country = 5mk s

I-xpect two ponts of information @ 3 + 2
| Points may be separate or the second may be a
development of the first

Reusos for comung to town =5 mk s
Expect two points @ 3 + 2

Points may separate or second may be a
development of the first

Total = 10

NOteS ¢ g 1) j'()h'\ 15l NH‘UI = 3_ hot attrecclineg 1 f("- [OFICN = 2
Rener sacial e = 3. clubs =2
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4. AFRIAL PHOTOGRAPH

Study the photograph of Ardee

A Draw a sketch map of the whole area shown on the photograph
Mark on and dentify

- two connecting roads - a church - a row of houses
- a group of trees - a castle [12]
5tems @ 2 mk s each = 10 2rds = |+
item shown = |, named = + | E{:; l':ll
Note 1f item NOT shown NO mark Tr=1+1
for gnang name Es_:"*'
two -oads essential for mk e
Tot=12

'l rame = 2 E]

Total = [2

Notes

B Imagme it 1s suggested to build a new shopping centre at the site
of the ttmber yvard o the centre foreground of the photograph
(1) L:xplam ONE reason why some people might be in favour of this

site
() 'zxplaimn ONE reason why some people might be aganst this site
[10]
| Reason FOR stated = 3mk s
Dev of pomnt =2
Reason AGAINST stated = 3mk »
Dev of pomt =12

Total = 10

Notes . eg FOR [on of room =3 | for parkimg -~ 2
AGAINST more traffic = 3, dangerous = 2



¢ ¢1) Atwhat time of the vear was this pichure taken ?
‘ud Uine ovidence from the nhetogranh . onve ONE ronson
tor vour answer

| Season named = 4 mk s

| One rcason stated =4 mk s
: Total 8
|

Notes ¢ g (1) Summer =4, (1) colour of fields = 4
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5. ORDNANCE SURVEY

1 ook ar the Ordrance Survey map lerend eyt provide

i
1Y

A ar haana

Ardon s N9 O higt THREE qerices wihich e nreviaga 5

A  sma the levend (kav suppled, from withun Cie bod o uze o

Three services 23 -3+3
Total =9

Notes ¢ g church = 3. educution = 3, Garda Station = 3

B It has been decided to build a factory at N 958 917, near the
junction of the N2 and R 171 roads

Using information froin the map explain TWO reasons for
this choice of site [10]

: Two reasons @ 5 mk s each
| Lach reason named = 3 mk s
Development =+]
Total == 10

Notes @ g good transport =3, 10 bring goods 10 marker =2
Near town =3 fur lubour workers = 2.

C Compared with other areas shown on the map, there are iess houses
around the River Dee between N 98 91 and O 01 91 Using

mformation from the map eaplain TWO reasons why this area has a
lower population

P \
| "Floodmg' or equivalent = 5 mk s
Two impacts of floods re low population @ 3m

each OR
l (ne unpact and one technical reterence /@ 3 - 3
i Total = 11

Notes e g /he area gets flooded = 5, houses would be ruthed =3
Mo voads ave built there either =3 [t'y u flood plumn (3)



